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AT fRE& G 3 b &= 126 150 0.54
AL frELYy 4 T & 1 25 0.00
AL freEsy 4 B 7 26 50 0.00
AL frE%Yy 4 A i 51 75 0.28
R fREAL G 4 Ak F 76 100 0.36
BT fREAL G 4 FE &= 101 125 0.43
R fREA G 4 ek & 126 150 0.49
AL RELY 4 prais %5 1 25 0.00
AL fRE%Yy 4 bk %5 26 50 0.00
AL ey 4 ik & 51 75 0.30
AL fRELRY 4 Lt i 76 100 0.38
AL fRE%Yy 4 Ltk & 101 125 0.46
AT fREAL G 4 Ik &= 126 150 0.54
AL RELY 5 T [ 1 25 0.00
AL freEsy 5 B & 26 50 0.00
AL freE%y 5 B i 51 75 0.28
7z fRE& G 5 Ak F 76 100 0.36
AT fREAL G 5 B &= 101 125 0.43
R fREAL G 5 i & 126 150 0.49
X fRE& G 5 Ik F 1 25 0.00
AL frE%Yy 5 preea %5 26 50 0.00
AL ey 5 Ltk & 51 75 0.30
B freE%y S peqE & 76 100 0.38
R fREA G 5 R’ &= 101 125 0.46
AL RELY 5 prais & 126 150 0.53
AL RELY 6 T [ 1 25 0.00
AL ey 6 EEe & 26 50 0.00
B frRELRYy 6 B & 51 75 0.28
AL frELYy 6 B i 76 100 0.35
R fREAL G 6 oLk &= 101 125 0.42
R REL G 6 i & 126 150 0.49
AL ey 6 ik & 1 25 0.00
AL frE%y 6 preea % 26 50 0.00
AL fREAY 6 ot o 51 75 0.30
B freEsy 6 tE 7& 76 100 0.38
7R fREAL G 6 R’ & 101 125 0.46
AL ey 6 Lt & 126 150 0.53
AL frE%Yy 7 Ak % 1 25 0.00
AL freEsy 7 g & 26 50 0.00
B freE%y 7 B 7& 51 75 0.28
AL frELYy 7 B i 76 100 0.35
AL freEsy 7 ek & 101 125 0.42
R REL G 7 i & 126 150 0.49
AL ey 7 ik & 1 25 0.00
B freE%y 7 it & 26 50 0.00
AL frE%y 7 Lt & 51 75 0.30
AL freEsy 7 peqi 7& 76 100 0.38
R REL G 7 g & 101 125 0.46
AL ey 7 ik & 126 150 0.53
AL RELY 8 EEs [ 1 25 0.00
AL RELY 8 EEe % 26 50 0.00
B freEsy 8 B 7& 51 75 0.28
AL frE%Yy 8 A i 76 100 0.35
AL ey 8 EE & 101 125 0.42
R REL G 8 B & 126 150 0.49
AL freE%y 8 ik & 1 25 0.00
B freEsy 8 tE 7 26 50 0.00
AL frE%y 8 Lt i 51 75 0.30
X fRE& G 8 Ik F 76 100 0.38
R fREL G 8 R’ & 101 125 0.46
AL freEsy 8 Ltk & 126 150 0.53
B RELY 9 EEs %5 1 25 0.00
AL RELY 9 T [ 26 50 0.00
AL freEsy 9 B 4 51 75 0.28
AL frE%y 9 A i 76 100 0.35
7z fREA G 9 g F 101 125 0.42
BT fREAL G 9 i &= 126 150 0.48
AL RELY 9 bk % 1 25 0.00
AL freEsy 9 it o 26 50 0.00
AL frE%Yy 9 Lt i 51 75 0.29
AL ey 9 Lt & 76 100 0.38
7R REL G 9 R’ & 101 125 0.45
AL frE%Yy 9 Ltk & 126 150 0.53
B RELY 10 EEs %5 1 25 0.00
AL RELY 10 T [ 26 50 0.00
R freEsy 10 5t &= 51 75 0.27
AL frE%Yy 10 A i 76 100 0.35
B freE%y 10 5t F 101 125 0.42
B RELY 10 EEs & 126 150 0.48
AL RELY 10 bk [ 1 25 0.00
A ey 10 itk F 26 50 0.00
AL frE%Yy 10 Lt i 51 75 0.29
AL ey 10 ot & 76 100 0.38
e RELY 10 prais & 101 125 0.45
B RELY 10 bk & 126 150 0.52
AL RELY 11 % %5 1 25 0.00
AL RELY 11 % [ 26 50 0.00




B freE%y 11 Ik & 51 75 0.27
AL frELYy 11 itk E 76 100 0.35
A freEsy 11 5t &= 101 125 0.42
A frE%Yy 11 5t & 126 150 0.48
R fREAL G 11 B o) 1 25 0.00
B freE%y 11 2tk & 26 50 0.00
AL frE%RYy 11 Ltk i 51 75 0.29
AL freEsy 11 2tk 7& 76 100 0.37
R REL G 11 itk & 101 125 0.45
R fRE& G 11 R F 126 150 0.52
AL fRELRY 12 EEs % 1 25 0.00
AL RELY 12 % % 26 50 0.00
B freEsy 12 Itk 7& 51 75 0.27
AL frE%Yy 12 Itk i 76 100 0.35
R freEsy 12 5t & 101 125 0.42
A freE%y 12 5t & 126 150 0.48
7z fRE& G 12 R’ o) 1 25 0.00
B freE%y 12 2tk & 26 50 0.00
AL frE%Yy 12 Lt & 51 75 0.29
X fRE& G 12 itk F 76 100 0.37
R REAL G 12 itk & 101 125 0.45
7z fREAL G 12 R F 126 150 0.52
B RELY 13 EEs %5 1 25 0.00
AL RELY 13 i & 26 50 0.00
AL freEsy 13 B 5 51 75 0.27
AL frE%Yy 13 Itk i 76 100 0.35
B ey 13 5t F 101 125 0.41
B RELY 13 EEs & 126 150 0.48
AL frELYy 13 Ltk & 1 25 0.00
AL freEsy 13 peqi o 26 50 0.00
AL frE%Yy 13 Lt i 51 75 0.29
AL ey 13 prqid & 76 100 0.37
AL RELY 13 I & 101 125 0.45
AL RELY 13 Ltk & 126 150 0.52
B RELY 14 % %5 1 25 0.00
AL RELY 14 EREs & 26 50 0.00
B ey 14 5t &= 51 75 0.27
AL frE%Yy 14 itk i 76 100 0.35
A freEsy 14 5t F 101 125 0.41
HAL freE%y 14 5t &= 126 150 0.48
AL frELYy 14 bk % 1 25 0.00
R freEsy 14 it F 26 50 0.00
AL frE%y 14 Lt & 51 75 0.29
AL ey 14 ot & 76 100 0.37
BAL freE%y 14 it &= 101 125 0.45
B frE%y 14 itk F 126 150 0.52
AL RELY 15 B %5 1 25 0.00
AL RELY 15 T & 26 50 0.00
R ey 15 5t &= 51 75 0.27
AL fRELRY 15 Ik i 76 100 0.34
B LYy 15 Ak &= 101 125 0.41
B RELY 15 EEs & 126 150 0.47
AL RELY 15 bk [ 1 25 0.00
7z fRE &G 15 B o) 26 50 0.00
AL RELY 15 Ik & 51 75 0.29
AL freE%y 15 ik & 76 100 0.37
B RELY 15 pracs & 101 125 0.45
AL RELY 15 bk & 126 150 0.52
A ey 16 Bt F 1 25 0.00
AL RELY 16 i % 26 50 0.00
B freEsy 16 5t &= 51 75 0.27
B freE%y 16 B 7& 76 100 0.34
A frE%Yy 16 Ak & 101 125 0.41
AL RELY 16 EE & 126 150 0.47
AL RELY 16 bk 5 1 25 0.00
7z fREA G 16 R o) 26 50 0.00
B freE%y 16 it 7& 51 75 0.29
AL frE%y 16 Ltk i 76 100 0.37
B freEsy 16 preia &= 101 125 0.44
AL RELY 16 Ik & 126 150 0.51
R ey 17 Ak F 1 25 0.00
AL RELY 17 EEs % 26 50 0.00
AL frE%Yy 17 B i 51 75 0.27
B freEsy 17 B 7& 76 100 0.34
B frE%Yy 17 ik & 101 125 0.41
R freEsy 17 HE & 126 150 0.47
FAS RELY 17 bk % 1 25 0.00
7z fREAL G 17 R’ o) 26 50 0.00
B freEsy 17 it 7& 51 75 0.29
AL frE%Yy 17 Lt i 76 100 0.37
A ey 17 Ik F 101 125 0.44
FAL RELY 17 bk & 126 150 0.51
SIERE RELY 0 EE & 1 25 0.00
SEERE freE%y 0 B o 26 50 0.00
SHEERE frE%y 0 Ak o) 51 75 0.29
SEERE ey 0 Ik 7& 76 100 0.37
SHEERE frE%Yy 0 ik & 101 125 0.44




SEEALE RELE 0 Ttk & 126 150 0.51
SEEALE REL G 0 k/qed & 1 25 0.00
SEEASE PREZE 0 R/qed & 26 50 0.00
SEEALE IRELH 0 Ltk & 51 75 0.31
SEEALE REZ G 0 2tk i 76 100 0.40
SEEALE PRELE 0 k/qed & 101 125 048
SEEALE IREZ G 0 /qed & 126 150 0.56
SEEASE PREZ G 1 Ttk i 1 25 0.00
SEEASE IRELE 1 Ttk 7 26 50 0.00
SEEALE PREZ G 1 Ttk i 51 75 0.29
SEEASE IRELE 1 Ttk i 76 100 0.37
SEEASE IREL G 1 Ttk i 101 125 0.44
SEEALE PRELE 1 Ttk i 126 150 0.51
SEEALE IREZE 1 Zetk 7 1 25 0.00
SEEASE REA G 1 etk & 26 50 0.00
SEEASE IRELE 1 2tk i 51 75 0.31
SEEALE REA G 1 2tk i 76 100 0.39
SEEALE PREZ G 1 etk i 101 125 0.47
SEEALE IREZ G 1 2tk 7 126 150 0.55
SEEASE PREZE 2 Ttk i 1 25 0.00
SEEALE IRELE 2 Ttk 7 26 50 0.00
SEEASE PREZ G 2 Ttk i 51 75 0.28
SEEALE PREL G 2 Ttk i 76 100 0.36
SEEALE IREL G 2 Ttk i 101 125 0.44
SEEALE PREZE 2 Ttk i 126 150 0.50
SEEALE IRELE 2 etk i 1 25 0.00
SEEASE REZ G 2 2tk i 26 50 0.00
SEEASE PREZH 2 /g i 51 75 0.30
SEEALE REA G 2 etk i 76 100 0.39
SEEALE PREZ G 2 etk i 101 125 0.47
SEEASE IREZ G 2 2tk i 126 150 0.55
SEEALE PREZ G 3 Ttk & 1 25 0.00
SEEASE IRELE 3 Fik & 26 50 0.00
SEEALE IREZ G 3 Tk & 51 75 0.28
SEEALE PREL G 3 Ttk & 76 100 0.36
SEEALE IREZ G 3 Tk & 101 125 043
SEEASE PREZ G 3 Ttk & 126 150 0.50
SEEASE IREZE 3 R/qed & 1 25 0.00
SEEALE RE G 3 2tk i 26 50 0.00
SEEALE PREZE 3 Ltk & 51 75 0.30
SEEALE IREZE 3 k/qed & 76 100 0.39
SEEASE PREZE 3 2k i 101 125 0.47
SEEALE IRELE 3 Ltk & 126 150 0.54
SEEALE PREZ G 4 Ttk i 1 25 0.00
SEEALE PREZE 4 Ttk & 26 50 0.00
SEEALE REZ G 4 Ttk i 51 75 0.28
SEEASE PREZE 4 Ttk & 76 100 0.36
SEEALE IREZE 4 Ttk 7 101 125 0.43
SEEALE PREZ G 4 Ttk i 126 150 0.50
SEEASE IREZE 4 2tk i 1 25 0.00
SEEALE REA G 4 etk i 26 50 0.00
SEEALE PREZH 4 etk i 51 75 0.30
SEEASE IREZE 4 2tk 7 76 100 0.39
SEEASE REZ G 4 etk & 101 125 0.46
SEEASE IREZE 4 2tk 7 126 150 0.54
SEEASE PREZ G 5 Tk & 1 25 0.00
SEEALE PREL G 5 Ttk & 26 50 0.00
SEEALE IRELE 5 Tk & 51 75 0.28
SEEASE PREZE 5 Ttk & 76 100 0.36
SEEASE IRELE 5 Tk & 101 125 043
SEEASE PREZ G 5 Ttk i 126 150 0.49
SEEALE REZ G 5 Ltk & ! 25 0.00
SEEALE IREZ G 5 Ltk & 26 50 0.00
SEEALE PRE L E 5 Ltk & 51 75 0.30
SEEALE IRELE 5 k/qed & 76 100 0.38
SEEALE RE G 5 2tk i 101 125 0.46
SEEALE PRELE 5 Ltk & 126 150 0.54
SEEALE IREZ G 6 Tk i 1 25 0.00
SEEASE PREZE 6 Ttk & 26 50 0.00
SEEASE IRELE 6 Tk o 51 75 0.28
SEEALE PREZ G 6 Ttk i 76 100 0.36
SEEASE IRELE 6 Fik & 101 125 043
SEEASE IREZ G 6 Ttk i 126 150 0.49
SEEALE PREZE 6 Ltk & ! 25 0.00
SEEALE PREZE 6 k/q e & 26 50 0.00
SEEASE REA G 6 etk & 51 75 0.30
SEEALE IRELE 6 R/qed & 76 100 0.38
SEEALE REA G 6 etk i 101 125 0.46
SEEALE PREZ G 6 R/qed & 126 150 0.53
SEEASE IREZ G 7 Tk & 1 25 0.00
SEEASE PREZE 7 Ttk & 26 50 0.00
SEEASE IREZH 7 Tk & 51 75 0.28
SEEASE PREZ G 7 Tk &4 76 100 0.35
SEEALE REL G 7 Ttk & 101 125 0.42
SEEALE REZ G 7 Tk & 126 150 0.49
SEEALE PREZE 7 k/q e & 1 25 0.00
SEEAE RELE 7 R/q & 26 50 0.00




ST ey 7 R & 5L 75 030
SR (s 7 ok & 76| 100 038
ST (s 7 Yok & 101 | 125 0.46
ST (s 7 R % 126|150 053
SR (s 8 Uit & [ TS 0.00
ST (R sesy 8 Tk & 26|50 0.00
SR (s 8 [ & 51| 75 0.28
ST (e sesy 8 Vb & 76| 100 035
SR (s sesy 8 [ % 101 | 125 0.42
SR (s 8 Uit & 126|150 049
ST (s 8 R % [ 25 0.00
SR (s 8 ok & 26|50 0.00
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ST (s 9 Vi & 26|50 0.00
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ST (e sesy 9 [ % 101 | 125 0.42
SR (s 9 [ & 126|150 049
ST (s 9 R & [ 25 0.00
SR (s 9 ok & 26|50 0.00
ST (s 9 Yok & 51| 75 030
SR (e sesy 9 R % 76| 100 038
SR (s 9 Yok & 101|125 0.46
ST (s 9 Yotk & 126|150 053
SR (s 10 b 5 [ 25 0.00
ST (s 10 b 5 26 [ 50 0.00
SR (s 10 [ % 51| 75 0.28
SR (s 10 Ui & 76| 100 035
ST (s 10 [ % 101 | 125 0.42
SR (s 10 b 5 126 [ 150 049
ST (s 10 R 5 T 0.00
SR (s 10 R I 26 [ 50 0.00
SR (s 10 R 5 sL_| 75 029
ST (R sesy 10 R % 76| 100 038
SR (s 10 R 5 101|125 045
ST (s 10 R0 5 126 | 150 0.53
SR (s sesy 11 b i [ 25 0.00
SR (s 11 Vi & 26|50 0.00
SR (s 11 [ % 51| 75 0.28
SR (s 11 [ & 76| 100 035
ST (s 11 Uik & 101 | 125 0.42
SR (s 11 [ & 126|150 048
ST (e sesy 11 R 5 [ 25 0.00
ST (s 11 R I 26 [ 50 0.00
SR (s 11 R0 5 st 75 029
ST (s 11 R % 76| 100 038
SR (s 11 R 5 101|125 045
ST (s 11 R 5 126 | 150 0.52
SR (s sesy 12 b I [ 25 0.00
SR (s 12 Ui & 26|50 0.00
ST (e sesy 12 [ % 51| 75 027
SR (e sesy 12 b 5 76| 100 035
ST (s 12 Uik & 101 | 125 042
SR (s 12 b I 126 | 150 0.48
SR (e sesy 12 R & |25 0.00
ST (R sesy 12 R I 26 [ 50 0.00
SR (s 12 ik 5 5L 75 029
ST (e sesy 12 Yok & 76| 100 037
SR (s sesy 12 ok % 101 | 125 045
ST (s esy 12 R0 5 126 | 150 0.52
SR (s 13 b I T T 0.00
SR (s 13 Uik & 26|50 0.00
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SR (s 13 [ & 76| 100 035
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SR (s E b I 126 | 150 0.48
SR (s 3 ik 5 [ 25 0.00
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SR (s 14 [ % 76| 100 035
SR (e sesy 14 Vit & 101|125 0.42
ST (R sesy 14 b I 126 | 150 0.48
SR (s 14 R 5 T T 0.00
ST (e sesy 14 R0 5 26 [ 50 0.00
SR (s 14 R 5 sL_[ 75 029
ST (e esy 14 Yok & 76| 100 037
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SEAEE | fratey 14 R 7 126 [ 150 052
AR | {gatedy 15 e i [ 25 0.00
Al | {gated 15 e o 26 | 50 0.00
SHAEE | {rated 15 e i 511 75 027
SEZE | frasd 15 e i 76 | 100 035
SHAEl | {ratd I e o lol | 125 041
SHEAEE | {gatedy 15 e i 126 | 150 048
Al | (gated 15 R o [ 25 0.00
SHAEE | (rated 15 IR 7 26 | 50 0.00
SEZE | frmsy 15 IRE: i st 75 029
SHAEE | {gated 15 IR i 76 | 100 037
ARl | {ratd 15 IR i ot [ 125 045
Al | {gEted 15 R o 126 | 150 0.52
SHAEE | (sl 16 Dile: 7 [ 25 0.00
SEAE | frasdy 16 e 5 26 [ 50 0.00
SHAEE | (ratd 16 e i 511 75 027
SEAE | frasy 16 e i 76 | 100 035
STl | {gEtd 16 e o lol | 125 041
SHEAEE | {gated 16 e i 126 | 150 048
SEZE | frasy 16 R 5 [ s 0.00
SHAEE | (gatd 16 IR i 26 | 50 0.00
SEZE | fmsdy 16 IR i T A 029
SHAEl | (gated 16 R o 76 | 100 037
AR | {gatedy 16 IR i lol | 125 045
Al | {gatd 16 R o 126 | 150 0.52
SHAEE | {rEted 17 Dile: i [ 25 0.00
SEAE | frasdy 17 e i 26 | 50 0.00
SHAl | {gated 17 e o 511 75 027
AR | (sl 17 e i 76 | 100 034
Al | {gatd 17 e o lol | 125 041
SHAEE | {rated 17 e 7 126 | 150 048
SEZE | frasdy 17 Gt 5 [ s 0.00
SHAEE | (gatd 17 IR i 26 | 50 0.00
SHEAEE | {ratd 17 IR i st 75 029
SHEAEE | {gEted 17 R o 76 | 100 037
SHAEE | {rated 17 IR i lol | 125 044
SELE | frmsdy 17 R 5 126 | 150 0.52
0L | (gatedy 0 GilE: 7 1 [ 2 0.00
S Y 0 e 5 26 [ 50 0.00
0% | frated 0 GilE: 7 51 75 029
0L | (gatedy 0 e 7 76 ] 100 037
T Y 0 e 5 ot [ 125 044
0L | (gatedy 0 e 7 126 [ 150 0.51
T Y 0 IR i [ s 0.00
0% | frated 0 IR o 26 [ 50 0.00
0L | (gatedy 0 IR 7 51 75 031
0L | (gatesy 0 IR 7 76 ] 100 040
0L | (gatedy 0 IR 7 101 135 048
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R | e I e 5 ot [ 125 044
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A Y I R 5 76 | 100 039
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T Y 3 e 5 L[ o5 0.00
R | ey 3 e i 26 | 50 0.00
R | frasdy 3 e 5 st 75 028
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R | (s 3 e i ot [ 125 043
0| fasy 3 e 5 126 | 150 050
R | ey 3 IR i [ s 0.00
R | fasy 3 R 5 26 [ 50 0.00
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R | fasdy 3 IRE: i 76 | 100 039
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R | ey 3 IR i 126 | 150 0.54
0| (s 1 e 5 [ s 0.00
RN | fasy 1 e 5 26 [ 50 0.00
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S Y 1 IRE: i [ s 0.00
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R | ey 4 IR i T R 030
0| sy 4 R 5 76 | 100 039
W0 | ey 4 IR i loi [ 125 047
T Y 1 R i 126 | 150 0.54
0FZl | gy 5 e i L[ o5 0.00
0| frasy 5 e i 26 | 50 0.00
| (s 5 e 5 st 75 028
R | ey 5 e i 76 | 100 036
R | frasdy 5 e 5 ot [ 125 043
R | ey 5 e i 126 | 150 050
R | sy 5 R i [ s 0.00
T Y 5 IR 5 26 [ 50 0.00
R | ey 5 IRE: i st 75 030
R | sy 5 R 5 76 | 100 038
R | sy 5 IRE: 5 foi [ 125 046
T Y 5 R i 126 [ 150 0.54
W0FZl | gy 6 e 5 L[ o5 0.00
R | fasdy 6 e i 26 [ 50 0.00
0| sy 6 e 5 st 75 028
R | ey 6 e i 76 | 100 036
T Y 6 e i lot [ 125 043
W0FZ | (g 6 e 5 126 | 150 049
R | ey 6 IRE: i [ s 0.00
| (s 6 IR 5 26 [ 50 0.00
R | frasy 6 IR i st 75 030
T Y 6 IRE: 5 76 | 100 038
W0FZl | (g 6 IRE: i foi [ 125 046
R | ey 6 IR i 126 [ 150 0.54
| (s 7 e 5 L[ 25 0.00
R | ey 7 e i 26 [ 50 0.00
T Y 7 e 5 st 75 028
R | frasy 7 e i 76 | 100 036
S Y 7 e 5 ot [ 125 043
W0FZl | g 7 e 5 126 | 150 049
0| ey 7 IRE: i [ s 0.00
T Y 7 IRE: 5 26 [ 50 0.00
R | ey 7 IRE: i T R 030
T Y 7 IR i 76 | 100 038
0G| (g 7 IR & foi [ 125 046
R | frasy 7 IR i 126 [ 150 0.53
R | ey 3 e 5 [ s 0.00
RN | ey 8 e i 26 [ 50 0.00
T Y 8 e i st 75 028
0FZl | gy 8 e i 76 | 100 035
R | ey 8 e i lot [ 125 043
| (s 8 e 5 126 | 150 0.49
R | ey 8 IRE: i [ s 0.00
R | e 8 IRE: 5 26 [ 50 0.00
0FZl | (g 8 IRE: i st 75 030
R | (s 8 IR i 76 | 100 038
R | fasy 8 IRE: 5 fo1 [ 125 046
R | ey 8 IR i 126 | 150 0.53
A Y 9 e 5 [ s 0.00
R | frasy 9 e i 26 | 50 0.00
I Y 9 e i st 75 028
W0FZl | (s 9 e 5 76 | 100 035
R | frasy 9 e i fo1 [ 125 042
R | frasey 9 e 5 126 | 150 049
R | ey 9 IRE: i [ s 0.00
T Y 9 IR i 26 [ 50 0.00
W0FZl | gy 9 IR & st 75 030
R | ey 9 IRE: i 76 | 100 038
R | (s 9 IRE: 5 foi [ 125 046
R | frasy 9 IRE: i 126 | 150 0.53
T Y 10 e i [ s 0.00
0% | fratedy 10 e i 26 | 50 0.00
0L | (gatedy 10 it i T 028
T Y 10 e 5 76 | 100 035
R | ey 10 e i loi [ 125 042
R | frasdy 10 e 5 126 | 150 049
WL | fravesy 10 Lt i Lz 0.00
R | (s 10 IR i 26 | 50 0.00
0L | (gates 10 R i 511 75 030
0L | (gatedy 10 IR i 76 | 100 038
R | fasy 10 R 5 ot [ 125 046
0L | (gatesy 10 IR i 126 | 150 053
R | fasdy 1 e i [ s 0.00
0% | frated 1 e 5 26 [ 50 0.00
0L | (gatedy 1 e i st 75 028
0L | (gatesy 1 e 5 76 | 100 035
R | (stes 1 e 5 tor [ 15 042




0FZEl | ey 1 T 7 126 [ 150 049
0L | (gatedy 11 ft i 1L |2 0.00
0L | (gatesy 11 ft i 26 | 50 0.00
0 | (gatedy 11 ft i T 029
S Y 11 ft i 76 1 100 0.38
W0FZ | gy 1 R & toi [ 125 045
R | ey 1 R i 126 [ 150 0.53
0L | (gatedy 12 Uit i L |2 0.00
0L | (gatedy 12 it i 26 | 50 0.00
T Y 12 e i st 75 028
0FZl | gy 2 e i 76 | 100 035
0| frasy 12 e i ot [ 125 042
| (s 12 e 5 126 | 150 048
0L | (gatedy 12 ft i L | 2 0.00
R | frasdy 12 ft i 26 1 50 0.00
R | ey 2 IRE: i T R 029
R | sy 12 ft i 76 1 100 0.38
T Y 12 R 5 foi [ 125 045
0L | (gatedy 12 ft i 126 1 150 0.53
R | sy 3 e 5 [ s 0.00
0L | (gatedy 13 e i 26 | 50 0.00
T Y 3 e i T A 027
W0FZl | gy 3 e 5 76 | 100 035
R | fasdy 3 e i fo1 [ 125 042
0L | (gatesy 13 Uit i 126 1 150 0.48
0 | (gatedy 13 lt i L | 2 0.00
T Y 13 ft i 26 | 50 0.00
W0FZ | (g 3 IR 5 st |75 029
0L | (gatedy 13 ft i 76 1 100 0.38
| (s 3 IR 5 loi [ 125 045
0L | (gatedy 13 ft i 126 1 150 0.52
T Y 14 e 5 [ s 0.00
0% | fratedy 14 it i 26 | 50 0.00
0L | (ratedy 14 it i T 027
| (s 14 e 5 76 | 100 035
R | ey 14 e i toi [ 125 042
T Y 14 e 5 126 | 150 048
0L | (gatedy 14 ft i L | 2 0.00
S Y 14 ft i 26 1 50 0.00
0% | frated 14 ft i T 029
0| ey 14 IR i 76 | 100 037
T Y 14 R 5 ot [ 125 045
R | ey 14 IR i 126 | 150 052
T Y 15 e i [ s 0.00
0% | frated 15 Uit i 26 | 50 0.00
0L | (gatedy 15 Uit i ETH 027
R | ey 15 e 5 76 | 100 035
RN | ey 15 e i fo1 [ 125 042
T Y 15 e i 126 | 150 048
0% | fratedy 15 ft i L 1 25 0.00
0L | (sl 15 ft i 26 | 50 0.00
| (s 15 IR 5 st |75 029
R | ey 15 IRE: i 76 | 100 037
R | e 15 ft i loi [ 125 045
WL | fravedy 15 R i 1261 150 9.52
0L | (gatedy 16 it i L ] 2 0.00
0L | (gatesy 16 Uit i 26 | 50 0.00
0L | (gatedy 16 it i T 027
A Y 16 e 5 76 | 100 035
R | frasy 6 e i foi [ 125 042
I Y 16 e i 126 | 150 048
0% | frated 16 ft i L 12 0.00
0L | (gatedy 16 ft i 26 | 50 0.00
R | frasey 6 IRE: 5 st 75 029
R | ey 6 IRE: i 76 | 100 037
T Y 16 ft i o1 | 125 045
0% | frated 16 ft i 126 1 150 0.52
0L | (gatedy 17 Uit i L |2 0.00
R | (gatedy 17 Uit i 26 | 50 0.00
R | frasy 17 e i st 75 027
T Y 17 e i 76 | 100 035
W0FZl | gy 17 e i foi [ 125 042
R | frasy 17 e i 126 | 150 048
0L | (gates 17 ft i L 12 0.00
0L | (gatedy 17 lt i 26 | 50 0.00
R | frasdy 17 ft i ETH 029
0FZl | gy 17 IRE: i 76 | 100 037
R | (s 17 ft i o1 | 125 045
0L | (gatesy 17 ft i 126 1 150 0.52
ISR | fasy 0 e i [ s 0.00
ISR | ey 0 e 5 26 [ 50 0.00
ISR | frasy 0 e 5 T A 029
ISR | fady 0 e i 76 | 100 037
ISHEl | frEey 0 e 5 foi [ 125 045
ISR | frasy 0 e i 126 | 150 052
ISR | fasy 0 R 5 [ s 0.00
ISR | ey 0 IRE: 5 26 [ 50 0.00




15425 sy 0 2 % 51 75 0.31
ISAEAETH frELYy 0 Ik o) 76 100 0.40
1SHEACI fRE& G 0 peqi % 101 125 0.43
1SHEACH REL G 0 Lt i 126 150 0.56
1SEACH fREAL G 1 B o 1 25 0.00
15425 sk gy 1 Tk % 26 50 0.00
IS4EAS i Rz sk gy 1 Tk % 51 75 0.29
ISHERETE freEsy 1 B & 76 100 0.37
ISFEAES | fpaky I St i 01 1 0.4
ISEACH RELY 1 B & 126 150 0.51
ISR | fravedy L Lt i b2 0.00
ISR frEsky 1 2k = 26 50 0.00
ISR s gy 1 2 = 51 75 0.31
ISHEACH REAL G 1 Lt i 76 100 0.39
ISTEACIH fRE%Y 1 peqi % 101 125 0.43
1STEACH REL G 1 Lt ih 126 150 0.55
1SAE A0 172 2 By 2 Ak i | 25 0.00
ISR sk gy 2 Tk % 26 50 0.00
IS4EAS I sk ey 2 Tk i 51 75 0.29
IS4EAS T Lz s gy 2 Tk % 76 100 0.36
ISFEAE | fpaky 2 St i 01 1 0.4
ISEACH RELY 2 EE & 126 150 0.51
ISR | ek 2 Lt i b2 0.00
1SR Rz s gy 2 2k % 26 50 0.00
ISR s gy 2 2k % 51 75 0.31
1SHEACIH REL G 2 Lt i 76 100 0.39
ISEACH RE%Y 2 peqE o 101 125 0.47
ISHEASIE fREAL G 2 it % 126 150 0.55
ISERETH frELYy 3 Ak & 1 25 0.00
IS4EAS I s gy 3 Tk = 26 50 0.00
ISR Rz sty 3 Tk & 51 75 0.28
IS4EAS T Lz s gy 3 ik % 76 100 0.36
ISR | fravedy 3 St i W01 1 g
1SEACH fREAL G 3 B 7 126 150 0.50
IS4EAS I sty 3 2 % 1 25 0.00
ISR sk ey 3 2k i 26 50 0.00
ISTEACH fRE%Y 3 peqi % 51 75 0.30
ISR sy 3 2t i 76 100 0.39
ISTEACH fRE%Y 3 it o 101 125 0.47
1S4EASIE fREAL G 3 it 7 126 150 0.55
IS4EAS i Rz sk gy 4 Tk i 1 25 0.00
IS4EAS T s gy 4 Tk % 26 50 0.00
IS4EAS I sy 4 Tk & 51 75 0.28
IS4EAS T Rz sk gy 4 Tk % 76 100 0.36
1SRG fRE& G 4 B % 101 125 0.43
ISEACIH fREA G 4 A o 126 150 0.50
ISAERE TR freEsy 4 prais & 1 25 0.00
ISR sk ey 4 2 & 26 50 0.00
ISEACH fRE%Y 4 it 7 51 75 0.30
ISAEAS i Rz sk ey 4 2 i 76 100 0.39
IS4EAS i sk ry 4 ik % 101 125 0.47
1STEACI fRE%L G 4 peqE 7 126 150 0.54
IS4EAS i Rz s gy 5 Ttk & 1 25 0.00
IS4EAS T Rz s gy 5 ik % 26 50 0.00
ISAEAS i sy 5 ik & 51 75 0.28
ISAERETH freE%y 5 Ak & 76 100 0.36
1SEACH fREAL G S B 7 101 125 0.43
ISEACH fREAL G S i iih 126 150 0.50
ISTEACH fRE& G S peqi % 1 25 0.00
ISR sy 5 2t i 26 50 0.00
ISTEACH fRE%Yy S it o 51 75 0.30
ISAEAS s gy 5 2 % 76 100 0.39
1SEACH fREAL G 5 Lt i 101 125 0.47
1SHEACIH fRE& G S peqi % 126 150 0.54
ISHERETH frE%y 6 ik % 1 25 0.00
ISEACH fREA G 6 B o 26 50 0.00
15425 sk gy 6 Tk % 51 75 0.28
1SR Rz s gy 6 Tk = 76 100 0.36
1SHEACIH fRE& G 6 B % 101 125 0.43
ISHEACH REL G 6 B i 126 150 0.50
IS4EAS T frEsky 6 2k % 1 25 0.00
15425 sk ey 6 2k i 26 50 0.00
ISR frEsky 6 2k % 51 75 0.30
1STEACI fREA G 6 t % 76 100 0.38
ISHEACH REL G 6 Lt i 101 125 0.46
IS4EAS i Rz s gy 6 ik % 126 150 0.54
ISAEAS sk ey 7 Tk i 1 25 0.00
ISTEACH fREAL G 7 B o 26 50 0.00
IS4EAS I sty 7 Tk % 51 75 0.28
IS4EAS I sk gy 7 Tk i 76 100 0.36
IS4EAS i Lz s gy 7 Tk % 101 125 0.43
1STEAC REL G 7 B iih 126 150 0.50
IS4EAS T fRas sk gy 7 ik % 1 25 0.00
15425 sy 7 2 % 26 50 0.00
IS4EAS i Rz sty 7 2k = 51 75 0.30
ISAERETE ey 7 preia o) 76 100 0.38
IS4EAS i sk ey 7 2t i 101 125 0.46




ISR REAEY 7 At 0 126 | 150 0.54
LS5 AZ T (RE A5 8 F bk & 1 25 0.00
1SAE Ak [ 8 5t 5 26 50 0.00
1S4k [ 8 5t 7 51 75 0.28
1SAE Ak [ 8 Gt 0 76| 100 0.36
ISR [ 8 5t 0 101 | 125 0.43
1SAE Ak [ 8 Gt 0 126 | 150 0.49
IS5 AZ T (REA G 8 bk & 1 25 0.00
1SAE Ak [ 8 ERE 7 26 50 0.00
1SAE Ak RELY 8 Atk 0 51 75 0.30
1SR [ 8 FRE 7 76| 100 0.38
1SAE Ak RELY 8 ER 0 101 | 125 0.46
1S4E Ak [ 8 Atk 0 126 | 150 0.53
LS5 AZ T {REA G 9 F bk 75 1 25 0.00
1SAE Ak [ 9 5t 0 26 50 0.00
1S4k [ 9 51t 7 51 75 0.28
L5525 (RE A5 9 Ttk ih 76 100 0.36
1SAE Ak [ 9 5t 0 101 | 125 043
1SAE A [ 9 5t 7 126 | 150 0.49
ST {7 2y 9 e & ] 25 0.00
1Ak [ 9 ERE 7 26 50 0.00
1SAE Ak RELY 9 Atk 1 51 75 0.30
ISAEAS i {5 2y 9 e i 76| 100 0.38
1SAE Ak (Y 9 ER T 101 | 125 0.46
1S4k [ 9 Atk 0 126 | 150 0.53
LS5 AZ T (REA G 10 Ttk i) 1 25 0.00
1SAE Ak [ 10 Gt 1 26 50 0.00
ISR [ 10 5yt 0 51 75 0.28
LSAE Ak ARG 10 51t T 76| 100 035
ISFEAE | fpatky 10 St i W01 1 9.3
1A [ 10 5t 7 126 | 150 0.49
1SAE Ak [ 10 Ltk i 1 25 0.00
ISR | fravedy 10 Lt i 20 0 0.0
1SAE Ak RELY 10 ERE 0 51 75 0.30
ST {7 2y 10 e & 76| 100 0.38
1Ak [ 10 ER 7 101 | 125 0.46
1SAE Ak [ 10 Atk & 126 | 150 053
ISFEAE | fpakny 11 St i Lz 0.00
1SAE Ak [ 11 Gt 1 26 50 0.00
ISR [ 11 5t 0 51 75 0.28
ST {2 2y 11 1 5 76| 100 0.35
1S {7 2y 11 1 & 01| 125 0.42
1S4k [ 11 5t 7 126 | 150 0.49
1SAEA REL Y 11 Atk 1 1 25 0.00
1SR [ 11 Atk 0 26 50 0.00
ST {2 2y 11 e & 51 75 0.30
1SAE Ak [ 11 Atk 0 76| 100 0.38
ISFEAES | fpaky 11 Lt i 01 13 0.0
ISAERENE TRE A 11 2k %5 126 150 0.53
ISR | fravey 12 St i b2 0.00
1SAE Ak [ 12 Btk i 26 50 0.00
1S4E Ak [ 12 5t 0 51 75 0.28
ISR | (gEeeny 12 G i o 10 935
1S {7 2y 12 5 & 101 125 0.42
ISR | fravedy 12 St i 1261 150 0.49
155 A5 fRE A5y 12 etk i 1 25 0.00
1S4E Ak [ 12 Atk 0 26 50 0.00
1STEAC {2 2y 12 e 5 51 75 0.30
LSAE Ak [ 12 bt 0 76| 100 0.38
1S4k [ 12 bt 7 101 | 125 0.46
1SAEREE (RE A 12 2k %5 126 150 0.53
ISR [ 13 5t 0 ! 25 0.00
1SAE Ak [ 13 51t 7 26 50 0.00
1S4k [ 13 5t 0 51 75 0.28
1S4k [ 13 51t 7 76| 100 035
LSAE Ak [ 13 5t 1 101 | 125 0.42
1SR [ 13 5t 0 126 | 150 0.49
LS5 AZ T (RE A5 13 2tk i 1 25 0.00
1SAE Ak [ 13 bt 0 26 50 0.00
1S4k [ 13 ERE 7 51 75 0.29
1SAEA REL Y 13 Atk 0 76| 100 0.38
ISR [ 13 FRE 7 101 | 125 0.45
1SAEA RELY 13 FRE 0 126 | 150 0.53
1S4E Ak [ 14 D i) L 25 0.00
1S4k [ 14 Gtk i 26 50 0.00
1SAE Ak [ 14 5t 0 51 75 0.28
ISAEA i {2 2y 14 1 5 76| 100 0.35
1S {57 2y 14 5% & 01| 125 0.42
1S4E Ak [ 14 5t 0 126 | 150 0.49
1SAE Ak [ 14 Ltk i 1 25 0.00
1SAE Ak [ 14 Atk 0 26 50 0.00
1S4k [ 14 Ltk i 51 75 029
1SAE Ak [ 14 Atk & 76| 100 038
1SR [ 14 Atk 0 101 | 125 0.45
1SAE Ak LY 14 Atk i 126 | 150 053
IS5 AZ T (REA G 15 Ttk i 1 25 0.00
1S4 Ak A Y 15 5t 7 26 50 0.00




1S4EASIH fRE& G 15 B & 51 75 0.28
1SEACIH fREAL G 15 A 7 76 100 0.35
1SHEACI fRE& G 15 B % 101 125 0.42
1SHEACH REL G 15 B i 126 150 0.49
1SEACH fRE%Y 15 it o 1 25 0.00
1SHEASIE fREAL G 15 it % 26 50 0.00
ISEACIH fREA G 15 Lt o 51 75 0.29
1SHEACIH fRE& G 15 g % 76 100 0.38
ISHEACIH REL G 15 Lt i 101 125 0.45
154E280H ey 15 Lk & 126 150 0.53
ISR | fravedy 16 St i b2 0.00
1STEACH fREA G 16 B o 26 50 0.00
1STEACI fREAL G 16 B 7 51 75 0.28
ISHEACH REAL G 16 A i 76 100 0.35
ISTEACIH fRE& G 16 B % 101 125 0.42
1STEACH REL G 16 A ih 126 150 0.49
ISTEACH fRE%Y 16 it % 1 25 0.00
1SEACH fREAL G 16 it 7 26 50 0.00
ISEACIH fREAL G 16 Lt i 51 75 0.29
ISTEACH fRE& G 16 peqi % 76 100 0.37
1STEACTH REAL G 16 Lt iih 101 125 0.45
154E280H ey 16 Lk & 126 150 0.52
ISR | ek 17 St i b2 0.00
1SR Rz s gy 17 Bk i 26 50 0.00
154280 freEsy 17 B o) 51 75 0.28
1SHEACIH REL G 17 A i 76 100 0.35
ISEACH fRE& G 17 B o 101 125 0.42
ISHEASIE fREAL G 17 B % 126 150 0.49
IS4EAS T frEsky 17 2k %5 1 25 0.00
1STEACI fREAL G 17 peqi % 26 50 0.00
1STEACIH REL G 17 Lt i 51 75 0.29
ISTEACIH fRE%Y 17 g % 76 100 0.37
ISR | fravedy 17 Lt i W01 1 945
1SEACH fREAY 17 Lt 7 126 150 0.52
204F A5 15 sty 0 Tk % 1 25 0.00
204 25 sk ey 0 Ttk i 26 50 0.00
204FASIH fRE& G 0 B % 51 75 0.29
20MFAETH frE%Yy 0 Bk & 76 100 0.37
204EASIE fREA G 0 B o 101 125 0.45
204F AL fREAL G 0 B 7 126 150 0.52
204FACTH frELYy 0 Ltk % 1 25 0.00
204F 25 s gy 0 2 % 26 50 0.00
20MEAETH frE%y 0 Ltk & 51 75 0.31
204EASIH fRE%Y 0 ReqE o 76 100 0.40
204FA8IH fRE& G 0 it % 101 125 0.43
204EASIH fREA G 0 Lt o 126 150 0.56
204F AT freEsy 1 B & 1 25 0.00
204 25 sk ey 1 Tk & 26 50 0.00
204FASIH fRE& G 1 B 7 51 75 0.29
200 | frasy 1 T i o 10 037
204EASIH fREA G 1 B o 101 125 0.44
204F A8 fRE%L G 1 B 7 126 150 0.51
2045 | fravedy I Lt i L 0.00
204F AL i Rz s gy 1 2k % 26 50 0.00
205 | fravey I Lt i LT 031
204F A TH freE%y 1 prais o) 76 100 0.40
204F A8 fREAL G 1 tE 7 101 125 0.43
204EASIH fREAL G 1 Lt iih 126 150 0.56
204EASIH fRE& G 2 B % 1 25 0.00
204 25 sy 2 Tk i 26 50 0.00
204EASIE fRE& G 2 B o 51 75 0.29
204F A0 15 s gy 2 Tk % 76 100 0.37
204F A8 fREAL G 2 B i 101 125 0.44
204EA8 I fRE& G 2 B % 126 150 0.51
2045 | fravedy 2 Lt i Lz 0.00
204EASIE fRE%Y 2 it o 26 50 0.00
204 25 sk gy 2 2 % 51 75 0.31
204F AL i Rz s gy 2 2k = 76 100 0.39
204EA8I fRE& G 2 it % 101 125 0.47
204EASIH REL G 2 Lt i 126 150 0.55
204EASIH fRE& G 3 B 7 1 25 0.00
204F A3 15 sk ey 3 Tk i 26 50 0.00
204FAETH frE%Yy 3 Bk o) 51 75 0.29
204F A8 fREA G 3 B % 76 100 0.36
204EASIH REL G 3 A i 101 125 0.44
204 25 Rz s gy 3 Tk % 126 150 0.51
204F A3 15 sk ey 3 2t i 1 25 0.00
204EASIH fRE%Y 3 ReqE o 26 50 0.00
204 25 sty 3 2 % 51 75 0.30
204 25 sk gy 3 2k i 76 100 0.39
204 25 Lz s gy 3 2k % 101 125 0.47
204F A8 REL G 3 Lt iih 126 150 0.55
204 25 fRas sk gy 4 Tk % 1 25 0.00
204 25 sy 4 Tk % 26 50 0.00
204F A0 i Rz sty 4 Tk = 51 75 0.28
204F AT ey 4 B o) 76 100 0.36
204K | etk 4 St & 011133 0.44




205E A5 RELE 4 Ttk i 126 150 0.50
204E A5 REL G 4 2tk i 1 25 0.00
204E A5 {5 PREZE 4 2k i 26 50 0.00
205E AL IRELH 4 /g i) 51 75 0.30
204E A5 REZ G 4 2tk i 76 100 0.39
205EAZ 5 PRELE 4 etk i 101 125 0.47
204E AL IREZ G 4 2tk i 126 150 0.55
204E A5 PREZ G 5 Tk i 1 25 0.00
205E A5 IRELE 5 Tk & 26 50 0.00
204E A5 PREZ G 5 Ttk i 51 75 0.28
205E A5 IRELE 5 Fik & 76 100 0.36
204E A5 IREL G 5 Tk & 101 125 043
205E A5 PRELE 5 Ttk & 126 150 0.50
205E A5 IREZE 5 k/q e & 1 25 0.00
204EAZ REA G 5 etk i 26 50 0.00
205E A5 IRELE 5 k/q e & 51 75 0.30
204E X REA G 5 2tk i 76 100 0.39
205E A5 PREZ G 5 Ltk & 101 125 047
204E A5 IREZ G 5 Ltk & 126 150 0.54
204E AR PREZE 6 Ttk i 1 25 0.00
205E A5 IRELE 6 Tk & 26 50 0.00
204E A8 PREZ G 6 Ttk i 51 75 0.28
205E A5 PREL G 6 Ttk & 76 100 0.36
204E A5 IREL G 6 Tk & 101 125 043
204E A5 PREZE 6 Tk & 126 150 0.50
205E A5 IRELE 6 Ltk & 1 25 0.00
204E X REZ G 6 2tk i 26 50 0.00
205E AL PREZH 6 Ltk & 51 75 0.30
204E A5 IREZ G 6 etk & 76 100 0.39
205E A5 PREZ G 6 k/q e & 101 125 047
205E A5 IREZ G 6 Ltk o 126 150 0.54
204E X PREZ G 7 Fk & 1 25 0.00
205E A5 IRELE 7 Fik & 26 50 0.00
204E AR IREZ G 7 Tk & 51 75 0.28
205E A5 PREL G 7 Ttk & 76 100 0.36
205E A5 IREZ G 7 Tk & 101 125 043
204E X PREZ G 7 Fk & 126 150 0.50
205E A5 IREZE 7 R/qed & 1 25 0.00
204E A5 PREZ G 7 2tk &4 26 50 0.00
205E A5 PREZE 7 Ltk & 51 75 0.30
204E A5 IREZE 7 k/qed & 76 100 0.38
204E X PREZE 7 R/qed & 101 125 0.46
204E A5 IRELE 7 Ltk & 126 150 0.54
204E A5 PREZ G 8 Ttk i 1 25 0.00
205E A5 PREZE 8 Ttk & 26 50 0.00
204E AL REZ G 8 Tk i 51 75 0.28
204E A5 PREZE 8 Ttk & 76 100 0.36
204E A5 IREZE 8 Tk & 101 125 043
204E A5 PREZ G 8 Ttk i 126 150 0.50
205E A5 IREZE 8 k/qed o ! 25 0.00
204E A5 IREZ G 8 etk & 26 50 0.00
205E A5 PREZH 8 Ltk & 51 75 0.30
204E A5 IREZE 8 k/qed & 76 100 0.38
204E X5 REZ G 8 etk i 101 125 0.46
205E A5 IREZE 8 R/qed & 126 150 0.54
204E A5 PREZ G 9 Tk & 1 25 0.00
205E A5 PREL G 9 Ttk & 26 50 0.00
204E A5 IRELE 9 Tk & 51 75 0.28
204E X5 PREZE 9 Ttk i 76 100 0.36
205E A5 IRELE 9 Tk & 101 125 043
204E X PREZ G 9 Ttk i 126 150 0.50
205E A5 REZ G 9 Ltk & ! 25 0.00
205E A5 IREZ G 9 Ltk & 26 50 0.00
204E AR5 PRE L E 9 Ltk & 51 75 0.30
205E AL IRELE 9 k/qed & 76 100 0.38
204EAZ RE G 9 2tk i 101 125 0.46
205E S5 PRELE 9 Ltk & 126 150 0.54
204E A5 IREZ G 10 Ttk i 1 25 0.00
205E A5 PREZE 10 Ttk i 26 50 0.00
205E A5 IRELE 10 Ttk 7 51 75 0.28
204E X PREZ G 10 Ttk i 76 100 0.36
205E A5 IRELE 10 Ttk i 101 125 043
204E A5 IREZ G 10 Ttk i 126 150 0.50
205E A5 PREZE 10 etk i 1 25 0.00
205E A5 PREZE 10 2tk 7 26 50 0.00
204EAZ {5 REA G 10 etk i 51 75 0.30
205E A5 IRELE 10 2tk 7 76 100 0.38
204EAZ REA G 10 etk i 101 125 0.46
205E A5 PREZ G 10 2tk i 126 150 0.54
204E A5 IREZ G 11 Ttk i) 1 25 0.00
204EAZ PREZE 11 Ttk i 26 50 0.00
204E A5 IREZH 11 Ttk & 51 75 0.28
204E A5 PREZ G 11 Ttk i 76 100 0.36
205E A5 REL G 11 Ttk i 101 125 0.43
205E A5 REZ G 11 Ttk i 126 150 0.49
204E A5 PREZE 11 2tk i 1 25 0.00
205E A5 RELE 11 g i) 26 50 0.00




NFEE | ey 11 R 7 51T 75 030
P e 1 IR i 76 | 100 038
P e 11 R o lol | 125 046
20020 | ey 1 IR i 126 | 150 0.53
2005 | fraly 12 e i [ 25 0.00
20020 | ey 12 e o 26 | 50 0.00
P e 12 e i T R 028
P e 12 e o 76 | 100 036
002l | ey 12 e i loi [ 125 043
205 | fraely 12 e o 126 [ 150 049
2002 | ey 12 R i L[ 25 0.00
2002 | ey 12 IR i 26 | 50 0.00
P e 12 R o 511 75 030
002l | frasiy 12 IR i 76 | 100 038
205 | fraly 12 R 5 ot [ 125 046
P e 12 IR i 126 | 150 0.53
2005 | fraly 13 e i [ 25 0.00
P e 13 e o 26 | 50 0.00
00l | ey 13 e i 511 75 028
205 | franly 13 e o 76 | 100 036
002 | ey 13 Die: i lol | 125 043
205 | fraly 13 e i 126 | 150 049
0020 | ey 13 R o L[ 25 0.00
P e 13 IR i 26 | 50 0.00
P e 13 R o 511 75 030
2002 | ey 13 IR i 76 | 100 038
205 | franly 3 R i lot [ 125 046
0020 | ey 13 R o 126 | 150 053
P e 14 e i [ s 0.00
002 | ey 14 e o 26 | 50 0.00
P e 14 e i st 75 028
205 | fraely 14 e o 76 | 100 036
002 | ey 14 e i lol | 125 043
P e 14 e i 126 [ 150 049
P e 14 R o L[ 25 0.00
002l | ey 14 IR i 26 [ 50 0.00
205G | fraly 14 IRE: 5 st 75 030
002 | ey 14 IR i 76 | 100 038
2005 | fraly 14 IR 5 ot [ 125 046
P e 14 R 5 126 | 150 0.53
00l | ey 15 e i [ 25 0.00
205 | el 15 e 5 26 [ 50 0.00
20020 | ey 15 e i 511 75 028
205 | fraly 15 e i 76 | 100 036
2045 | fravky 15 Uit i W01 1 9.3
P e 15 e i 126 | 150 049
P e I R o [ 25 0.00
20020 | ey 15 IR i 26 | 50 0.00
2005 | franly 15 IR i st 75 030
002 | frasiy 15 IR i 76 | 100 038
P e 15 IR i lot [ 125 046
P e 15 R o 126 | 150 053
002E | frasy 16 e 7 [ 25 0.00
205 | fraly 16 e 5 26 [ 50 0.00
002 | ey 16 e i 511 75 028
0020 | ey 16 e i 76 | 100 036
P e 16 e o lol | 125 043
002E | ey 16 e i 126 | 150 049
205 | fraly 16 R 5 [ s 0.00
002 | ey 16 IR i 26 | 50 0.00
2005 | fraely 16 IR i st 75 029
P e 16 IR o 76 | 100 038
00EE | ey 16 IR i 1ol | 125 046
P e 16 R o 126 | 150 053
20020 | ey 17 e i [ 25 0.00
205 | fraly 17 e o 26 | 50 0.00
20020 | ey 17 e o 511 75 028
P e 17 e i 76 | 100 036
P e 17 e i lo1 | 125 043
2002l | ey 17 e i 126 | 150 049
205 | fraly 17 R i [ s 0.00
002 | ey 17 IR i 26 | 50 0.00
002 | ey 17 IR i T E 029
002 | ey 17 R i 76 | 100 038
2002l | frasy 17 IR 7 lol | 125 046
2055 | franly 17 Tt 5 126 [ 150 0.53




